



On The Refined Neutrosophic Real Analysis Based on Refined Neutrosophic Algebraic AH-Isometry

¹Mohammad Bisher Zeina, ² Mohammad Abobala

¹ Department of Mathematical Statistics, Faculty of Science, University of Aleppo, Aleppo, Syria;

bisher.zeina@gmail.com

² Tishreen University, Department of Mathematics, Latakia, Syria;

mohammadabobala777@gmail.com

Abstract:

The objective of this paper is to study the basic concepts of real refined neutrosophic analysis by using the refined neutrosophic AH-isometry, where refined neutrosophic real famous functions such as polynomials, exponents, Gamma functions and logarithmic refined neutrosophic real functions will be presented and discussed in terms of formulas and theorems. Also, many related examples will be illustrated.

Keywords: refined neutrosophic function, refined neutrosophic AH-isometry, refined neutrosophic Gamma function

Introduction and Preliminaries

The concept of refined neutrosophic algebraic structure was released in 2020 by neutrosophic rings, groups, spaces, modules and matrices [1-10].

The main idea behind the refined neutrosophic algebraic structures is that they are considered as a new generalization of classical and neutrosophic structures and other similar structures respectively [11-15]. Also, the refined neutrosophic functions were suggested and discussed.

The Element I can be split into I_1, I_2 satisfying the following:

$$I_1^2 = I_1, I_2^2 = I_2, I_1 \cdot I_2 = I_2 \cdot I_1 = I_1.$$

The structure $R(I_1, I_2) = \{a + bI_1 + cI_2; a, b, c \in R\}$ is called the refined neutrosophic field of reals. Let $f: R(I_1, I_2) \rightarrow R(I_1, I_2)$ be a function with one variable, i.e., $f = f(X); X \in R(I_1, I_2)$ then f is called a refined neutrosophic real function with one refined neutrosophic real variable.

To study the analytical properties of this type of functions we must use the refined AH-Isometry defined in [7] as follows:

$$\begin{aligned} T: R(I_1, I_2) &\rightarrow R \times R \times R \\ T(a + bI_1 + cI_2) &= (a, a + b + c, a + c) \end{aligned}$$

And its inverse is defined as follows:

$$\begin{aligned} T^{-1}: R \times R \times R &\rightarrow R(I_1, I_2) \\ T^{-1}(a, b, c) &= a + (b - c)I_1 + (c - a)I_2 \end{aligned}$$

Example:

Let $f: R(I_1, I_2) \rightarrow R(I_1, I_2)$ be a function defined as follows:

$$f(X) = X^2 + I_1X - I_2; X = x_0 + x_1I_1 + x_2I_2 \in R(I_1, I_2)$$

By using the refined AH-Isometry we can turn f into three classical real functions:

$$\begin{aligned} T[f(X)] &= T(X^2) + T(I_1)T(X) - T(I_2) \\ &= (x_0^2, (x_0 + x_1 + x_2)^2, (x_0 + x_2)^2) + (0, 1, 0)(x_0, x_0 + x_1 + x_2, x_0 + x_2) \\ &\quad - (0, 1, 1) = (x_0^2, (x_0 + x_1 + x_2)^2 + x_0 + x_1 + x_2 - 1, (x_0 + x_2)^2 - 1) \end{aligned}$$

So that, the refined neutrosophic real function f has been splat into three classical real functions:

$$\begin{aligned} g: R &\rightarrow R; g(x_0) = x_0^2 \\ h: R &\rightarrow R; h(x_0 + x_1 + x_2) = (x_0 + x_1 + x_2)^2 + x_0 + x_1 + x_2 - 1 \\ l: R &\rightarrow R; l(x_0 + x_2) = (x_0 + x_2)^2 - 1 \end{aligned}$$

In this work, we use the previous algebraic AH-isometry to define and study the real refined neutrosophic real analysis and functions as a continuing of efforts released to study neutrosophic analysis [16-18].

Main Discussion

Definition:

The neutrosophic real function $f: R(I_1, I_2) \rightarrow R(I_1, I_2)$ is called:

- (a) Continuous if and only if corresponding functions g, h, l are continuous on R .
- (b) Differentiable if and only if g, h, l are differentiable.
- (c) Integrable if and only if g, h, l are integrable.

Example:

Take $f: R(I_1, I_2) \rightarrow R(I_1, I_2); f(X) = X^2 - I_1 + 2I_2$

$$\begin{aligned} T(F(X)) &= (x_0^2, (x_0 + x_1 + x_2)^2, (x_0 + x_2)^2) - (0, 1, 0) + 2(0, 1, 1) \\ &= (x_0^2, (x_0 + x_1 + x_2)^2 + 1, (x_0 + x_2)^2 + 2) \end{aligned}$$

We have:

$g: R \rightarrow R; g(x_0) = x_0^2$ is continuous, differentiable and integrable on R .

$h: R \rightarrow R; h(x_0 + x_1 + x_2) = (x_0 + x_1 + x_2)^2 + 1$ is continuous, differentiable and integrable on R .

$l: R \rightarrow R; l(x_0 + x_2) = (x_0 + x_2)^2 + 2$ is continuous, differentiable and integrable on R .

Thus f is continuous, differentiable and integrable on $R(I_1, I_2)$.

Now let's compute the derived function of f by using the refined AH-Isometry:

$g'(x_0) = 2x_0, h'(x_0 + x_1 + x_2) = 2(x_0 + x_1 + x_2), l'(x_0 + x_2) = 2(x_0 + x_2)$, thus:

$$\begin{aligned} f'(X) &= T^{-1}(2x_0, 2(x_0 + x_1 + x_2), 2(x_0 + x_2)) \\ &= 2x_0 + I_1[2(x_0 + x_1 + x_2) - 2(x_0 + x_2)] + I_2[2(x_0 + x_2) - 2x_0] \\ &= 2x_0 + 2x_1I_1 + 2x_2I_2 = 2X \end{aligned}$$

Same result can be found by direct computing where:

$$f'(X) = 2X.$$

Now let's integrate f directly:

$$\int f(X)dX = \frac{1}{3}X^3 + (-I_1 + 2I_2)X$$

The second is to integrate f by using refined AH-Isometry as follows:

$$\begin{aligned}
\int g(x_0)dx_0 &= \frac{x_0^3}{3}, \int h(x_0 + x_1 + x_2)d(x_0 + x_1 + x_2) \\
&= \frac{(x_0 + x_1 + x_2)^3}{3} + (x_0 + x_1 + x_2), \int l(x_0 + x_2)d(x_0 + x_2) \\
&= \frac{(x_0 + x_2)^3}{3} + 2(x_0 + x_2)
\end{aligned}$$

So:

$$T\left(\int f(X)d(X)\right) = \left(\frac{x_0^3}{3}, \frac{(x_0 + x_1 + x_2)^3}{3} + (x_0 + x_1 + x_2), \frac{(x_0 + x_2)^3}{3} + 2(x_0 + x_2)\right)$$

Thus:

$$\begin{aligned}
\int f(X)d(X) &= T^{-1}\left(\frac{x_0^3}{3}, \frac{(x_0 + x_1 + x_2)^3}{3} + (x_0 + x_1 + x_2), \frac{(x_0 + x_2)^3}{3} + 2(x_0 + x_2)\right) \\
&= \frac{x_0^3}{3} + I_1\left[\frac{(x_0 + x_1 + x_2)^3}{3} + (x_0 + x_1 + x_2) - \frac{(x_0 + x_2)^3}{3} - 2(x_0 + x_2)\right] \\
&\quad + I_2\left[\frac{(x_0 + x_2)^3}{3} + 2(x_0 + x_2) - \frac{x_0^3}{3}\right].
\end{aligned}$$

It is easy to catch that:

$$T\left(\int f\right) = T\left(\frac{X^3}{3} - I_1X + I_2X\right) = \left(\int g, \int h, \int l\right)$$

Definition:

Let $R(I_1, I_2) = \{a + bI_1 + cI_2; a, b, c \in R\}$ be the refined neutrosophic field of reals, we say that $a_0 + a_1I_1 + a_2I_2 \leq_N b_0 + b_1I_1 + b_2I_2$ if and only if $a_0 \leq b_0, a_0 + a_1 + a_2 \leq b_0 + b_1 + b_2, a_0 + a_2 \leq b_0 + b_2$.

Theorem 1:

The previous relation is a partial order relation.

Proof:

Let $x = a_0 + a_1I_1 + a_2I_2, y = b_0 + b_1I_1 + b_2I_2, z = c_0 + c_1I_1 + c_2I_2 \in R(I_1, I_2)$, we have:

$x \leq x$ because $a_0 \leq a_0, a_0 + a_1 + a_2 \leq a_0 + a_1 + a_2, a_0 + a_2 \leq a_0 + a_2$

Assume that $x \leq y$ and $y \leq x$ so: $a_0 \leq b_0, a_0 + a_1 + a_2 \leq b_0 + b_1 + b_2, a_0 + a_2 \leq b_0 + b_2$ and $b_0 \leq a_0, b_0 + b_1 + b_2 \leq a_0 + a_1 + a_2, b_0 + b_2 \leq a_0 + a_2$ which means

that $a_0 = b_0, a_0 + a_1 + a_2 = b_0 + b_1 + b_2, a_0 + a_2 = b_0 + b_2$, we conclude that $a_0 = b_0, a_1 = b_1, a_2 = b_2$ so $x = y$

Suppose that $x \leq y$ and $y \leq z$ so: $a_0 \leq b_0, a_0 + a_1 + a_2 \leq b_0 + b_1 + b_2, a_0 + a_2 \leq b_0 + b_2$ and $b_0 \leq c_0, b_0 + b_1 + b_2 \leq c_0 + c_1 + c_2, b_0 + b_2 \leq c_0 + c_2$ which yields $a_0 \leq c_0, a_0 + a_1 + a_2 \leq c_0 + c_1 + c_2, a_0 + a_2 \leq c_0 + c_2$ which means that $x \leq z$

Finally, we conclude that \leq_N is a partial order relation.

Computing Refined Neutrosophic Powers in $R(I_1, I_2)$

we call $(a_0 + a_1I_1 + a_2I_2)^{n_0+n_1I_1+n_2I_2}; a_0, a_1, a_2, n_0, n_1, n_2 \in \mathbb{R}$ a refined neutrosophic power. Here will present a theorem helps in finding such powers:

Theorem:

$$\begin{aligned} & (a_0 + a_1I_1 + a_2I_2)^{n_0+n_1I_1+n_2I_2} \\ &= a_0^{n_0} + [(a_0 + a_1 + a_2)^{n_0+n_1+n_2} - (a_0 + a_2)^{n_0+n_2}]I_1 \\ &+ [(a_0 + a_2)^{n_0+n_2} - a_0^{n_0}]I_2 \end{aligned}$$

Proof:

Taking refined AH-Isometry to the left side yields:

$$T[(a_0 + a_1I_1 + a_2I_2)^{n_0+n_1I_1+n_2I_2}] = (a_0^{n_0}, (a_0 + a_1 + a_2)^{n_0+n_1+n_2}, (a_0 + a_2)^{n_0+n_2})$$

Now taking inverse isometry T^{-1} we get:

$$\begin{aligned} (a_0 + a_1I_1 + a_2I_2)^{n_0+n_1I_1+n_2I_2} &= T^{-1}(a_0^{n_0}, (a_0 + a_1 + a_2)^{n_0+n_1+n_2}, (a_0 + a_2)^{n_0+n_2}) \\ &= a_0^{n_0} + [(a_0 + a_1 + a_2)^{n_0+n_1+n_2} - (a_0 + a_2)^{n_0+n_2}]I_1 \\ &+ [(a_0 + a_2)^{n_0+n_2} - a_0^{n_0}]I_2 \end{aligned}$$

Example:

let $x_N = (3 + 2I_1 - 2I_2)^{1+I_1+2I_2}$, we have: $T(x_N) = T[(3 + 2I_1 - 2I_2)^{1+I_1+2I_2}] = (3, 3, 1)^{(1, 4, 3)} = (1, 0, 1)$, which yields that:

$$x_N = T^{-1}(3, 81, 1) = 3 + 80I_1 - 2I_2$$

If our result is right, then $(3 + 80I_1 - 2I_2)^{\frac{1}{1+I_1+2I_2}}$ should be equal to $3 + 2I_1 - 2I_2$.

Let $y_N = (3 + 80I_1 - 2I_2)^{\frac{1}{1+I_1+2I_2}}$ then $T(y_N) = T\left[(3 + 80I_1 - 2I_2)^{\frac{1}{1+I_1+2I_2}}\right] =$

$$(3, 81, 1)^{\frac{(1, 1, 1)}{(1, 4, 3)}} = (3, 81, 1)^{\left(1, \frac{1}{4}, \frac{1}{3}\right)} = (3, 3, 1)$$

So: $y_N = T^{-1}(3,3,1) = 3 + 2I_1 - 2I_2$

Refined Neutrosophic Trigonometric Functions:

Here we are going to present some definitions and theorems related to refined neutrosophic trigonometric functions which are functions in $\theta_N = \theta_0 + \theta_1 I_1 + \theta_2 I_2$; $\theta_0, \theta_1, \theta_2 \in R$

Theorems:

Let $R(I_1, I_2)$ be refined neutrosophic field of reals then:

1. $\sin(\theta_0 + \theta_1 I_1 + \theta_2 I_2) = \sin \theta_0 + [\sin(\theta_0 + \theta_1 + \theta_2) - \sin(\theta_0 + \theta_2)]I_1 + [\sin(\theta_0 + \theta_2) - \sin \theta_0]I_2$
2. $\cos(\theta_0 + \theta_1 I_1 + \theta_2 I_2) = \cos \theta_0 + [\cos(\theta_0 + \theta_1 + \theta_2) - \cos(\theta_0 + \theta_2)]I_1 + [\cos(\theta_0 + \theta_2) - \cos \theta_0]I_2$
3. $\tan(\theta_0 + \theta_1 I_1 + \theta_2 I_2) = \tan \theta_0 + [\tan(\theta_0 + \theta_1 + \theta_2) - \tan(\theta_0 + \theta_2)]I_1 + [\tan(\theta_0 + \theta_2) - \tan \theta_0]I_2$
4. $\sin^2(\theta_0 + \theta_1 I_1 + \theta_2 I_2) + \cos^2(\theta_0 + \theta_1 I_1 + \theta_2 I_2) = 1$
5. $-1 \leq \sin(\theta_0 + \theta_1 I_1 + \theta_2 I_2) \leq 1$
6. $-1 \leq \cos(\theta_0 + \theta_1 I_1 + \theta_2 I_2) \leq 1$

Proof:

$$1. \sin(\theta_0 + \theta_1 I_1 + \theta_2 I_2) = \frac{e^{\theta_0 + \theta_1 I_1 + \theta_2 I_2} - e^{-(\theta_0 + \theta_1 I_1 + \theta_2 I_2)}}{2i}; i^2 = -1$$

$$\begin{aligned} T[\sin(\theta_0 + \theta_1 I_1 + \theta_2 I_2)] &= T\left[\frac{e^{\theta_0 + \theta_1 I_1 + \theta_2 I_2} - e^{-(\theta_0 + \theta_1 I_1 + \theta_2 I_2)}}{2i}\right] \\ &= \frac{1}{2i}(e^{\theta_0} - e^{-\theta_0}, e^{\theta_0 + \theta_1 + \theta_2} - e^{-(\theta_0 + \theta_1 + \theta_2)}, e^{\theta_0 + \theta_2} - e^{-(\theta_0 + \theta_2)}) \end{aligned}$$

So:

$$\begin{aligned} \sin(\theta_0 + \theta_1 I_1 + \theta_2 I_2) &= \frac{1}{2i} T^{-1}(e^{\theta_0} - e^{-\theta_0}, e^{\theta_0 + \theta_1 + \theta_2} - e^{-(\theta_0 + \theta_1 + \theta_2)}, e^{\theta_0 + \theta_2} - e^{-(\theta_0 + \theta_2)}) \\ &= \frac{e^{\theta_0} - e^{-\theta_0}}{2i} + \left[\frac{e^{\theta_0 + \theta_1 + \theta_2} - e^{-(\theta_0 + \theta_1 + \theta_2)}}{2i} - \frac{e^{\theta_0 + \theta_2} - e^{-(\theta_0 + \theta_2)}}{2i} \right] I_1 \\ &\quad + \left[\frac{e^{\theta_0 + \theta_2} - e^{-(\theta_0 + \theta_2)}}{2i} - \frac{e^{\theta_0} - e^{-\theta_0}}{2i} \right] I_2 \\ &= \sin \theta_0 + [\sin(\theta_0 + \theta_1 + \theta_2) - \sin(\theta_0 + \theta_2)]I_1 + [\sin(\theta_0 + \theta_2) - \sin \theta_0]I_2 \end{aligned}$$

$$2. \cos(\theta_0 + \theta_1 I_1 + \theta_2 I_2) = \frac{e^{\theta_0 + \theta_1 I_1 + \theta_2 I_2} + e^{-(\theta_0 + \theta_1 I_1 + \theta_2 I_2)}}{2}$$

$$\begin{aligned} T[\cos(\theta_0 + \theta_1 I_1 + \theta_2 I_2)] &= T\left[\frac{e^{\theta_0 + \theta_1 I_1 + \theta_2 I_2} + e^{-(\theta_0 + \theta_1 I_1 + \theta_2 I_2)}}{2}\right] \\ &= \frac{1}{2}(e^{\theta_0} + e^{-\theta_0}, e^{\theta_0 + \theta_1 + \theta_2} + e^{-(\theta_0 + \theta_1 + \theta_2)}, e^{\theta_0 + \theta_2} + e^{-(\theta_0 + \theta_2)}) \end{aligned}$$

So:

$$\begin{aligned}\cos(\theta_0 + \theta_1 I_1 + \theta_2 I_2) &= \frac{1}{2} T^{-1}(e^{\theta_0} + e^{-\theta_0}, e^{\theta_0 + \theta_1 + \theta_2} + e^{-(\theta_0 + \theta_1 + \theta_2)}, e^{\theta_0 + \theta_2} + e^{-(\theta_0 + \theta_2)}) \\ &= \frac{e^{\theta_0} + e^{-\theta_0}}{2} + \left[\frac{e^{\theta_0 + \theta_1 + \theta_2} + e^{-(\theta_0 + \theta_1 + \theta_2)}}{2} - \frac{e^{\theta_0 + \theta_2} + e^{-(\theta_0 + \theta_2)}}{2} \right] I_1 \\ &\quad + \left[\frac{e^{\theta_0 + \theta_2} + e^{-(\theta_0 + \theta_2)}}{2} - \frac{e^{\theta_0} + e^{-\theta_0}}{2} \right] I_2 \\ &= \cos \theta_0 + [\cos(\theta_0 + \theta_1 + \theta_2) - \cos(\theta_0 + \theta_2)] I_1 \\ &\quad + [\cos(\theta_0 + \theta_2) - \cos \theta_0] I_2\end{aligned}$$

3. Similar to 1 and 2.

4. Using refined neutrosophic powers theorem we get:

$$\begin{aligned}\sin^2(\theta_0 + \theta_1 I_1 + \theta_2 I_2) &= \sin^2 \theta_0 + [\sin^2(\theta_0 + \theta_1 + \theta_2) - \sin^2(\theta_0 + \theta_2)] I_1 \\ &\quad + [\sin^2(\theta_0 + \theta_2) - \sin^2 \theta_0] I_2\end{aligned}$$

Also:

$$\begin{aligned}\cos^2(\theta_0 + \theta_1 I_1 + \theta_2 I_2) &= \cos^2 \theta_0 + [\cos^2(\theta_0 + \theta_1 + \theta_2) - \cos^2(\theta_0 + \theta_2)] I_1 \\ &\quad + [\cos^2(\theta_0 + \theta_2) - \cos^2 \theta_0] I_2\end{aligned}$$

So:

$$\begin{aligned}\sin^2(\theta_0 + \theta_1 I_1 + \theta_2 I_2) + \cos^2(\theta_0 + \theta_1 I_1 + \theta_2 I_2) &= \sin^2 \theta_0 + [\sin^2(\theta_0 + \theta_1 + \theta_2) - \sin^2(\theta_0 + \theta_2)] I_1 \\ &\quad + [\sin^2(\theta_0 + \theta_2) - \sin^2 \theta_0] I_2 + \cos^2 \theta_0 \\ &\quad + [\cos^2(\theta_0 + \theta_1 + \theta_2) - \cos^2(\theta_0 + \theta_2)] I_1 + [\cos^2(\theta_0 + \theta_2) - \cos^2 \theta_0] I_2 \\ &= \sin^2 \theta_0 + \cos^2 \theta_0 + [(\sin^2(\theta_0 + \theta_1 + \theta_2) + \cos^2(\theta_0 + \theta_1 + \theta_2) \\ &\quad - \sin^2(\theta_0 + \theta_2) - \cos^2(\theta_0 + \theta_2))] I_1 \\ &\quad + [\sin^2(\theta_0 + \theta_2) + \cos^2(\theta_0 + \theta_2) - \sin^2 \theta_0 - \cos^2 \theta_0] I_2 \\ &= 1 + [1 - 1] I_1 + [1 - 1] I_2 = 1\end{aligned}$$

5. Since $T[\sin(\theta_0 + \theta_1 I_1 + \theta_2 I_2)] = (\sin \theta_0, \sin(\theta_0 + \theta_1 + \theta_2), \sin(\theta_0 + \theta_2))$

And it is known that $(-1, -1, -1) \leq (\sin \theta_0, \sin(\theta_0 + \theta_1 + \theta_2), \sin(\theta_0 + \theta_2)) \leq (1, 1, 1)$

Also $T^{-1}(-1, -1, -1) = -1 + (-1 + 1) I_1 + (-1 + 1) I_2 = -1$

$$T^{-1}(1, 1, 1) = 1 + (1 - 1) I_1 + (1 - 1) I_2 = 1$$

So the theorem holds.

6. Similar to 5.

Refined Neutrosophic Exponential and Logarithmic Functions:

Theorem:

The refined neutrosophic exponential function form is

$$e^{x_0+x_1I_1+x_2I_2} = e^{x_0} + (e^{x_0+x_1+x_2} - e^{x_0+x_2})I_1 + (e^{x_0+x_2} - e^{x_0})I_2$$

Proof:

$$T[e^{x_0+x_1I_1+x_2I_2}] = e^{(x_0, x_0+x_1+x_2, x_0+x_2)} = (e^{x_0}, e^{x_0+x_1+x_2}, e^{x_0+x_2})$$

Thus:

$$e^{x_0+x_1I_1+x_2I_2} = T^{-1}(e^{x_0}, e^{x_0+x_1+x_2}, e^{x_0+x_2}) = e^{x_0} + (e^{x_0+x_1+x_2} - e^{x_0+x_2})I_1 + (e^{x_0+x_2} - e^{x_0})I_2$$

Theorem:

The refined neutrosophic logarithmic function form is

$$\ln(x_0 + x_1I_1 + x_2I_2) = \ln x_0 + (\ln(x_0 + x_1 + x_2) - \ln(x_0 + x_2))I_1 + (\ln(x_0 + x_2) - \ln x_0)I_2$$

Proof:

We will search for $a_0, a_1, a_2 \in R$ where:

$$\ln(x_0 + x_1I_1 + x_2I_2) = a_0 + a_1I_1 + a_2I_2$$

Taking inverse function, we have:

$$x_0 + x_1I_1 + x_2I_2 = e^{a_0+a_1I_1+a_2I_2} = e^{a_0} + (e^{a_0+a_1+a_2} - e^{a_0+a_2})I_1 + (e^{a_0+a_2} - e^{a_0})I_2$$

Corresponding to the last equality we get:

$$x_0 = e^{a_0} \Rightarrow a_0 = \ln x_0$$

$$x_2 = e^{a_0+a_2} - e^{a_0} = x_0 e^{a_2} - x_0 \Rightarrow e^{a_2} = \frac{x_2 + x_0}{x_0} \Rightarrow a_2 = \ln(x_2 + x_0) - \ln x_0$$

$$x_1 = e^{a_0+a_1+a_2} - e^{a_0+a_2} = x_0 \frac{x_2 + x_0}{x_0} (e^{a_1} - 1) = (x_2 + x_0)(e^{a_1} - 1) \Rightarrow e^{a_1} = \frac{x_0 + x_1 + x_2}{x_0 + x_2}$$

$$\Rightarrow a_1 = \ln(x_0 + x_1 + x_2) - \ln(x_0 + x_2)$$

So:

$$\ln(x_0 + x_1I_1 + x_2I_2) = \ln x_0 + [\ln(x_0 + x_1 + x_2) - \ln(x_0 + x_2)]I_1 + [\ln(x_2 + x_0) - \ln x_0]I_2$$

Some Refined Neutrosophic Special Functions:

Refined Neutrosophic Gamma Function:

We can find the value of refined neutrosophic gamma function at refined neutrosophic point $a_N = a_0 + a_1I_1 + a_2I_2$ using the formula:

$$\Gamma(a_N) = \Gamma(a_0) + [\Gamma(a_0 + a_1 + a_2) - \Gamma(a_0 + a_2)]I_1 + [\Gamma(a_0 + a_2) - \Gamma(a_0)]I_2$$

Where:

$$\Gamma(a) = \int_0^{\infty} x^{a-1} e^{-x} dx ; a > 0$$

Proof:

Let $f(x) = x^{a_N-1}e^{-x}$, so:

$$T(f(x)) = (x^{a_0-1}e^{-x}, x^{a_0+a_1+a_2-1}e^{-x}, x^{a_0+a_2-1}e^{-x})$$

Then:

$$\begin{aligned} T\left(\int_0^\infty f(x)dx\right) &= \left(\int_0^\infty x^{a_0-1}e^{-x}dx, \int_0^\infty x^{a_0+a_1+a_2-1}e^{-x}dx, \int_0^\infty x^{a_0+a_2-1}e^{-x}dx\right) \\ &= (\Gamma(a_0), \Gamma(a_0 + a_1 + a_2), \Gamma(a_0 + a_2)) \end{aligned}$$

Taking T^{-1} yields to:

$$\Gamma(a_N) = \Gamma(a_0) + [\Gamma(a_0 + a_1 + a_2) - \Gamma(a_0 + a_2)]I_1 + [\Gamma(a_0 + a_2) - \Gamma(a_0)]I_2$$

Remark:

Neutrosophic gamma function $\Gamma(a_N)$ is defined when $a_N >_N 0$ i.e., $a_0 > 0, a_0 + a_1 + a_2 > 0, a_0 + a_2 > 0$.

Examples:

$\Gamma(I_1 + I_2)$ is undefined because $I_1 + I_2 = 0 + 1 \cdot I_1 + 1 \cdot I_2$ and $0 \not> 0$.

$$\Gamma(a_N) = \Gamma(a_0) + [\Gamma(a_0 + a_1 + a_2) - \Gamma(a_0 + a_2)]I_1 + [\Gamma(a_0 + a_2) - \Gamma(a_0)]I_2$$

$$\begin{aligned} \Gamma(0.5 + 2I_1 + I_2) &= \Gamma(0.5) + [\Gamma(3.5) - \Gamma(1.5)]I_1 + [\Gamma(1.5) - \Gamma(0.5)]I_2 \\ &= \sqrt{\pi} + (2.5 * 1.5 * 0.5 * \sqrt{\pi} - 0.5 * \sqrt{\pi})I_1 + (0.5 * \sqrt{\pi} - \sqrt{\pi})I_2 \end{aligned}$$

Remark:

Since:

$$\begin{aligned} T[\Gamma(n_0 + n_1I_1 + n_2I_2 + 1)] &= (\Gamma(n_0 + 1), \Gamma(n_0 + n_1 + n_2 + 1), \Gamma(n_0 + n_2 + 1)) \\ &= (n_0!, (n_0 + n_1 + n_2)!, (n_0 + n_2)!); n_0, n_1, n_2 \in \mathbb{N}. \end{aligned}$$

So $\Gamma(n_0 + n_1I_1 + n_2I_2 + 1) = (n_0 + n_1I_1 + n_2I_2)! = T^{-1}(n_0!, (n_0 + n_1 + n_2)!, (n_0 + n_2)!) = n_0! + [(n_0 + n_1 + n_2)! - (n_0 + n_2)!]I_1 + [(n_0 + n_2)! - n_0!]I_2$

And it's the formal form of refined neutrosophic factorial function.

Refined Neutrosophic Beta Function:

We can find the value of refined neutrosophic beta function at refined neutrosophic points $a_N = a_0 + a_1I_1 + a_2I_2$, $b_N = b_0 + b_1I_1 + b_2I_2$ using the formula:

$$\beta(a_N, b_N) = \int_0^1 x^{a_N-1}(1-x)^{b_N-1} dx =$$

Where:

$$\beta(a, b) = \int_0^1 x^{a-1}(1-x)^{b-1} dx ; a, b > 0$$

Proof:

Let $f(x) = x^{a_N-1}(1-x)^{b_N-1}$, so:

$$T[f(x)] = (x^{a_0-1}(1-x)^{b_0-1}, x^{a_0+a_1+a_2-1}(1-x)^{b_0+b_1+b_2-1}, x^{a_0+a_2-1}(1-x)^{b_0+b_2-1})$$

Then:

$$\left(\int_0^1 x^{a_0-1}(1-x)^{b_0-1} dx, \int_0^1 x^{a_0+a_1+a_2-1}(1-x)^{b_0+b_1+b_2-1} dx, \int_0^1 x^{a_0+a_2-1}(1-x)^{b_0+b_2-1} dx \right) \\ = (\beta(a_0, b_0), \beta(a_0 + a_1 + a_2, b_0 + b_1 + b_2), \beta(a_0 + a_2, b_0 + b_2))$$

So:

$$\beta(a_N, b_N) = \beta(a_0, b_0) + [\beta(a_0 + a_1 + a_2, b_0 + b_1 + b_2) - \beta(a_0 + a_2, b_0 + b_2)]I_1 \\ + [\beta(a_0 + a_2, b_0 + b_2) - \beta(a_0, b_0)]I_2$$

We let it an exercise to the reader to prove that:

$$\beta(a_N, b_N) = \frac{\Gamma(a_N)\Gamma(b_N)}{\Gamma(a_N+b_N)}.$$

Conclusion

In this paper, we have used the refined neutrosophic algebraic AH-isometry to study the functions defined on the real refined neutrosophic field, where refined neutrosophic Beta functions, Gamma functions, Logarithmic functions, and trigonometric functions were presented and formulated.

As a future research direction, we aim to study the refined neutrosophic probability continuous distributions based on this approach.

References

-
- [1] Abobala, M., On Refined Neutrosophic Matrices and Their Applications In Refined Neutrosophic Algebraic Equations, Journal Of Mathematics, Hindawi, 2021
- [2] Abobala, M., "On Some Algebraic Properties of n-Refined Neutrosophic Elements and n-Refined Neutrosophic Linear Equations", Mathematical Problems in Engineering, Hindawi, 2021
- [3] Olgun, N., Hatip, A., Bal, M., and Abobala, M., " A Novel Approach To Necessary and Sufficient Conditions For The Diagonalization of Refined Neutrosophic Matrices", International Journal of neutrosophic Science, Vol. 16, pp. 72-79, 2021.
- [4] Ibrahim, M., and Abobala, M., "An Introduction To Refined Neutrosophic Number Theory", Neutrosophic sets and systems, Vol. 45, 2021.
- [5] Abobala, M., Ziena, B.M., Doewes, R., and Hussein, Z., "The Representation Of Refined Neutrosophic Matrices By Refined Neutrosophic Linear Functions", International Journal Of Neutrosophic Science, 2022.
- [6] Celik, M., and Olgun, N., " An Introduction To Neutrosophic Real Banach And Hillbert Spaces", Galoitica Journal Of Mathematical Structures And Applications, 2022.
- [7] Celik, M., and Hatip, A., " On The Refined AH-Isometry And Its Applications In Refined Neutrosophic Surfaces", Galoitica Journal Of Mathematical Structures And Applications, 2022.
- [8] Celik, M., and Olgun, N., " On The Classification Of Neutrosophic Complex Inner Product Spaces", Galoitica Journal Of Mathematical Structures And Applications, 2022.
- [9] M. Ibrahim. A. Agboola, B.Badmus and S. Akinleye. On refined Neutrosophic Vector Spaces . International Journal of Neutrosophic Science, Vol. 7, 2020, pp. 97-109.
- [10] Adeleke, E.O., Agboola, A.A.A.,and Smarandache, F., "Refined Neutrosophic Rings I", International Journal of Neutrosophic Science, Vol. 2(2), pp. 77-81. 2020.
- [11] Khaldi, A., " A Study On Split-Complex Vector Spaces", Neoma Journal Of Mathematics and Computer Science, 2023.

-
- [12] Ahmad, K., " On Some Split-Complex Diophantine Equations", *Neoma Journal Of Mathematics and Computer Science*, 2023.
- [13]. Ali, R., " On The Weak Fuzzy Complex Inner Products On Weak Fuzzy Complex Vector Spaces", *Neoma Journal Of Mathematics and Computer Science*, 2023.
- [14] Sarkis, M., " On The Solutions Of Fermat's Diophantine Equation In 3-refined Neutrosophic Ring of Integers", *Neoma Journal of Mathematics and Computer Science*, 2023.
- [15] Merkepçi, H., and Abobala, M., " On The Symbolic 2-Plithogenic Rings", *International Journal of Neutrosophic Science*, 2023.
- [16] Abobala, M., and Zeina, M.B., " A Study Of Neutrosophic Real Analysis By Using One Dimensional Geometric AH-Isometry", *Galoitica Journal Of Mathematical Structures And Applications*, Vol.3, 2023.
- [17] M. B. Zeina and M. Abobala, "A Novel Approach of Neutrosophic Continuous Probability Distributions using AH-Isometry used in Medical Applications," in *Cognitive Intelligence with Neutrosophic Statistics in Bioinformatics*, Elsevier, 2023.
- [18] M. Abobala and A. Hatip, "An Algebraic Approach to Neutrosophic Euclidean Geometry," *Neutrosophic Sets and Systems*, vol. 43, pp. 114-123, 2021.

Received: December 30, 2022. **Accepted:** March 30, 2023